CHECK PROBLEMS FOR PROGRAMS

PLEASE USE ANGLE DISTANCE INTERSECTION TRIANGLE DIAGRAM FOR CHECK PROBLEMS

HORIZONTAL CURVE SOLUTION

RADIUS = 450

DELTA = 45

LENGTH = 353.429

CHORD = 344.415

TANGENT=186.396

MID ORDINATE = 34.254

EXT ORDINATE = 37.076

SECTOR AREA = 79,521.561

FILLET = 4356.682

SEGMENT AREA = 7927.002

VERTICAL CURVE

BVC 10+00 EL = 106.50

EVC 11+46 EL = 108.69

HIGH LOW POINT = RCL H 10+41.71

BEG GRADE -2.0

END GRADE 5.0

VC LENGTH 146.0

PERIMETER FOR PROBLEM = 248.5532

SQUARE FEET 3,658.175

ACRES = .084

POINT IN DIRECTION WITH OFFSET

OCCUPIED SETUP

1000.0

1000.0

BEG STATION = 1+00

BEG  COORDINATES 

963.4182

1058.0677

AZIMUTH 48.5355

DIRECTION OF OFFSET 0 = LEFT 1 = RIGHT

STATION TO STAKE 1+55.647

OFFSET = 0

DISTANCE = 100.00 AZIMUTH = 90.0000

15.0 OFFSET LEFT DISTANCE =90.845 AZIMUTH = 82.5109

15.0 OFFSET RIGHT DISTANCE = 110.441 AZIMUTH = 95.5227

OFFSET  LEFT TO RIGHT CAN BE DONE BY USING -15 FOR LEFT IN RIGHT SIDE STAKING MODE

THIS CHECK PROBLEM USES ANGLE/DISTANCE TRIANGLE DIAGRAM COORDINATES

CURVE OFFSET STAKING

OCCUPIED 

1000.00

1000.00

BEG STATION 1+00

BEG CURVE NORTHING AND EASTING

1000.00

1100.00

BEG RADIUS NORTHING AND EASTING

963.4182

1058.0677

HIT R/S TWICE THEN THE RADIUS IS DISPLAYED ON THE TOP AND THE AZIMUTH FROM RADIUS POINT TO THE BEG COORDINATES IS DISPLAYED ON THE BOTTOM.

HIT R/S AGAIN AND ENTER DIRECTION OF CURVE 0 = LEFT 1= RIGHT

STATION TO STAKE 1+00

OFFSET = RADIUS TO BE STAKED VERY IMPORTANT
HIT R/S 

DISTANCE ON TOP = 100.00

AZIMUTH = 90.0000

ANSWERS ARE FOR CURVE RIGHT 

OFFSET 15 RIGHT 1+00 DISTANCE = 89.24 AZIMUTH = 96.2038

OFFSET 15 LEFT 1+00 DISTANCE = 111.74 AZIMUTH = 84.5614

ANSWERS ARE FOR CURVE LEFT

STATION 1+00 15 LEFT DISTANCE = 89.24 AZIMUTH = 96.2038

STATION 1+00 15 RIGHT DISTANCE = 111.74 AZIMUTH = 84.5614

I suggest reading chapter   12-5 to 12-15, 17-1                                                                                                                    
